BOULDER 100

SOLAR PANEL

USER GUIDE

(JJ GOALZERO



A DISCLAIMER A

Please read all warnings, instructions and cautions carefully before use to avoid personal
injury, property damage or damage to your Goal Zero product. Goal Zero reserves the right
to update this document without prior notice. Please visit www.goalzero.com to find the
latest product information and the most recent version of the User Guide.

A AVIS DE NON-RESPONSABILITE A

Veuillez lire attentivement toutes les instructions et les étiquettes d'avertissement avant
dutiliser 'appareil afin d'éviter des blessures et/ou des dommages a |'appareil et & tout
produit branché. Goal Zero se réserve le droit de mettre a jour ce document sans préavis.
Veuillez consulter le site www.goalzero.com pour obtenir les dernieres informations sur le
produit et la version la plus récente du guide de l'utilisateur.

A HAFTUNGSAUSSCHLUSS A

Lesen Sie vor der Verwendung bitte alle Anweisungen und Hinweisaufkleber aufmerksam,
um Verletzungen oder Beschadigungen am Geréat und an angeschlossenen Produkten
zu vermeiden. Goal Zero behalt sich das Recht vor, dieses Dokument ohne vorherige
Ankindigung zu aktualisieren. Die neuesten Produktinformationen und die aktuellste
Version der Bedienungsanleitung finden Sie auf www.goalzero.com.

A DESCARGO DE RESPONSABILIDAD A

Lea atentamente todas las etiquetas de instrucciones y precauciones antes de utilizar el
aparato para evitar lesiones y/o dafios a la unidad y a los productos conectados. Goal Zero
se reserva el derecho de actualizar este documento sin previo aviso. Visite www.goalzero.
com para encontrar la informacién mas reciente sobre el producto y la versién mas reciente

de la Gufa del usuario.

A DISCLAIMER A

Leggere attentamente tutte le istruzioni e le precauzioni prima dell'uso, in modo da
evitare lesioni personali o danni all'unita e ai prodotti collegati. Goal Zero siriserva il
diritto di aggiornare questo documento senza preavviso. Visitare il sito www.goalzero.
com per trovare le informazioni piu recenti sul prodotto e la versione pili recente della
Guida per l'utente.

A RESPONSABILIDADE A

Leia todas as instrugGes e cuidados atentamente antes de utilizar a unidade para evitar

danos pessoais ou danos ao aparelho e a quaisquer produtos conectados. A Goal Zero
reserva-se ao direito de atualizar este documento sem aviso prévio. Visite www.goalzero.
com para encontrar as informag&es mais recentes sobre o produto e a versdo mais recente
do Guia do Utilizador.

=
A REFE A
ABBEEPIZY B LOERINRRNDIRIGEEHT B0 ERRICTRNTOIRREEREIA
WL BFTA<LTEE WV Coal Zerold FEURLCOXEZEHN T 2EF ZBRLET. RFORE
B 1 —H— HA RORFARIC DL TIZ. www.goalzero.com IC7I7E XL TSN,

A VASTUUVAPAUSLAUSEKE A

Lue kaikki ohjeet ja varoitustarrat huolellisesti ennen kayttéa, jotta valtat henkildvahingot

jaltai laitteen ja liitettyjen tuotteiden vahingoittumisen. Goal Zero pidattaa oikeuden
paivittaa tata asiakirjaa ilman ennakkoilmoitusta. Uusimmat tuotetiedot ja kayttéoppaan
uusin versio l6ytyvéat osoitteesta www.goalzero.com.

A DISCLAIMER A

Lees voor gebruik alle instructies en voorzorgsmaatregelen zorgvuldig om persoonlijk letsel

en/of schade aan het apparaat en alle aangesloten producten te voorkomen. Goal Zero
behoudt zich het recht voor dit document bij te werken zonder voorafgaande kennisgeving.
Ga naar www.goalzero.com voor de meest recente productinformatie en de meest recente

versie van de handleiding.

A ANSVARSFRISKRIVNING A

L&s alla instruktioner och varningsetiketter noggrant innan du anvandning for att undvika

personskador och/eller skador p& enheten och eventuella anslutna produkter. Goal Zero
férbehaller sig ratten att uppdatera detta dokument utan féregéende meddelande. Besok
www.goalzero.com for att hitta den senaste produktinformationen och den senaste

versionen av bruksanvisningen.



Table of Contents

Get To Know Your Gear
How to Connect
How to Chain
Technical Specifications
Francais
Deutsch
Espariol
Italiano
Portugués
BAGE

POWER. ANYTHING_ ANYWHERE:* Suomalainen
Nederlands

Svenska

For assistance with your device in the United States, visit our contact
page at www.goalzero.com/contact or call 1-888-794-6250. For
assistance with your device outside of the United States, contact the
local distributor. If you do not have contact information for the local
distributor, contact us in the United States and we will help connect
you to the local representative.

o o g A~ N

14
20
26
32
38
44
50
56



Get to Know Your Gear How It Works

Plug the 4mm Solar Connectors on the back of your Boulder
Junction Box 100i into a 4mm Solar Connector, combiner, or adapter to
plug into your desired device to collect and use solar power.

5 E To plug the Boulder 100i into a Yeti, you will need an 4mm
Solar Connector to HPP adapter.
Z-Brackets [ E] [E i|

. -
=il

j| 4mm Solar Connectors
o

4mm Solar Connector
(compatible with MC4®)

1 8 [
| com— |

*MC4? is a registered trademark of Staubli Electrical Connectors

« Boulder 100i solar panel

* (4) Z-bracket
*(4) M6 Hex Bolt I]
* (4) M6 Hexagon Nut

* (4) M6 Split Lock Washer
* (4) M6 Flat Washer

T3]

1 8 [
| com— |




How to Install Your Panel

1. Secure the Z Brackets to the Solar Panel

a. Attach the Z-Bracket along the long side of the solar
panel frame near the corner. Be sure the mounting foot
of the bracket is facing away from the solar panel frame.

b. Line up the mounting hole on the Z-Bracket with the hole
on the solar panel frame.

c. Attach the Z-Bracket to the solar panel frame with the
M6 hex bolt, split lock washer, flat washer, and

hexagon nuts.

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

d. Repeat for the other 3 brackets, placing one near each
corner of the solar panel.

2. Mount the Panel
a. Choose a location to install your solar panel. We
recommend picking a spot that is clear and will receive
maximum sun exposure.
b. Mount the panel as far away from rooftop obstructions
as possible.

Connecting Multiple Panels

When connecting multiple panels, it is important to be mindful
of the voltage input limitations of the device you are charging.
The amount of input is impacted by whether you are connecting
panels in a series or parallel configuration. Visit the Goal Zero
website for more information about optimum solar panel setup:

%



Technical Specifications

Solar Panel

Rated Power

Cell Efficiency

Operating Voltage (peak power)
Operating Current (peak power)
Open Circuit Voltage VOC

Short Circuit Current ISC

Series Fuse Rating

Temperature Coefficient (power)
Temperature Coefficient(Voltage)
Temperature Coefficient(current)
Operating Temperature
Connection

Connector

Cable Length

Cable AWG

General

Weight

Dimensions

Certs

Warranty

Ingress Protection

*For warranty terms, conditions, and registration, go to www.goalzero.com/warranty.

* Based on Standard Test Conditions with Solar irradiance at 1000W/m”"2, cell

temperature of 25C and air Mass AM = 1.5

100W
22%
17.1V
5.84A
20.52V
6.14A
9A
~.39%/°C
-.3%/°C
.06%/°C
-40° to 185°F

MC4e
36in
12 AWG

13.2Ibs/6kg

23.07x38.58x1.18in
58.6 x 98 x 3cm

FE CE & B

2 years

IP67

*MC4® is a registered trademark of Staubli Electrical Connectors

6

Frequently Asked Questions

Q: Can | plug the Boulder 100i directly into a Goal Zero Yeti?
A: No. You need an MC4*® to HPP adapter to connect the Boulder
100i to a Yeti. These panels are intended for RV installations
with the Goal Zero Escape Ecosystem.

Q: How many solar panels can | connect together?

A: It varies depending on the device you're pairing your panels
with. For example, the Goal Zero Yeti PRO 4000 will accept

a maximum of 5 Boulder 100i panels in series, while the Yeti
1500X and all other X' line products can only accommodate 2
panels in series.

Q: Can | chain my Boulder 100i with third-party solar panels?
A: No. The Boulder 100i is not guaranteed to work with any other
manufacturers’ products. Many solar panels are manufactured
differently. Pairing your Boulder 100i with third-party panels may
result in product damage, fires, or other serious issues.

*MC42 is a registered trademark of Staubli Electrical Connectors



Tout savoir sur votre matériel Comment ¢a marche

Branchez les connecteurs solaires de 4 mm a l'arriére de
Boite de jonction votre Boulder 100i dans un connecteur solaire de 4 mm, un
combinateur ou un adaptateur pour le brancher dans l'appareil
de votre choix afin de collecter et d'utiliser I'énergie solaire.

Pour brancher la Boulder 100i sur une Yeti, vous avez besoin
S [;] [_i| d'un connecteur solaire de 4 mm vers un adaptateur HPP.
upports en Z [~

[}

r _
Connecteurs

=N solaires 4 mm
g
Lo

Connecteur solaire 4 mm
(compatible avec MC4")

1 8 [
| com— |

*MC4" est une marque déposée de Staubli Electrical Connectors

Dans la boite

* Panneau solaire Boulder 100i
* (4) Supportsen Z

*(4) Boulon hexagonal M6 I]
« (4) Ecrou hexagonal M6

« (4) Rondelle frein fendue M6
* (4) Rondelle plate M6

T3]

1 8 [
| com— |




Comment installer votre panneau

1. Fixez les supports en Z au panneau solaire

a. Fixez le support en Z le long du c6té long du cadre du
panneau solaire, prés de I'angle. Assurez-vous que le
pied de montage du support est orienté a I'opposé du
cadre du panneau solaire.

b. Alignez le trou de montage du support en Z avec
le trou du cadre du panneau solaire sur le cadre
du panneau solaire.

c. Fixez le support en Z au cadre du panneau solaire
a l'aide du boulon hexagonal M6, de la rondelle-frein

fendue, de la rondelle plate et des écrous hexagonaux.

Boulder 100i Top

Side View

Wel® ‘ ©

]
a
-

|

d. Répétez l'opération pour les trois autres supports,
en placant un pres de chaque coin du panneau solaire.

10

2. Monter le panneau
a. Choisissez un emplacement pour installer votre panneau
solaire. Nous vous recommandons de choisir un endroit
dégagé et qui recevra une exposition maximale au soleil.
b. Montez les panneaux aussi loin que possible des
obstacles sur le toit.

Branchement de plusieurs panneaux

Lorsque vous raccordez plusieurs panneaux, il est important
de tenir compte des limites de tension d'entrée de |'appareil
que vous chargez. La quantité d'entrée dépend de la
configuration en série ou en paralléle des panneaux raccordés.
Consultez le site Web de Goal Zero pour plus d'informations
sur la configuration optimale des panneaux solaires :

=

11



Caractéristiques techniques

Goal Zero

Puissance nominale

Efficacité de la pile

Tension de fonctionnement (puissance de pointe)
Courant de fonctionnement (puissance de pointe)
Tension de circuit ouvert VOC

Courant de court-circuit ISC

Puissance nominale du fusible en série
Coefficient de température (pouvoir)

Coefficient de température (tension)

Coefficient de température (courant)
Température de fonctionnement

Branchement

Connecteur

Longueur du cable

Cable AWG

Généralités

Poids

Dimensions de I'appareil

Certificats

Garantie

Protection contre l'intrusion

100 W
22%
17,1V
584A
20,52V
6,14 A
9A
-,39%]/°C
-,3%/°C
,06%/°C
-40°-85°C

MC 4w
36 po
12 AWG

13,2 1b/6 kg

23,07 x38,58x1,18 po
58,6 x98x3cm

Fe Ce & B
2ans

IP67

* Pour les conditions de garantie et vous inscrire, rendez-vous sur

www.goalzero.com/warranty.

*Basé sur des conditions d'essai standard avec une irradiation solaire de
1000W/m”2, une température de pile de 25 °C et une masse d'air AM = 1,5

*MC4" est une marque déposée de Staubli Electrical Connectors

12

Foire aux questions

Q: Puis-je brancher le Boulder 100i directement a un Goal

Zero Yeti?

R : Non. Vous avez besoin d'un adaptateur MC4" vers HPP pour

brancher le Boulder 100i & un Yeti. Ces panneaux sont congus

pour les installations de véhicules récréatifs avec I'écosystéme

Goal Zero Escape.

Q: Combien de panneaux solaires puis-je brancher
ensemble?

R : Cela varie en fonction de I'appareil avec lequel vous jumelez

vos panneaux. Par exemple, la Yeti PRO 4000 de Goal Zero
accepte un maximum de 5 panneaux Boulder 100i en série,
alors que la Yeti 1500X et tous les autres produits de la
ligne «X» ne peuvent accepter que 2 panneaux en série.

Q: Puis-je enchainer mon Boulder 100i 4 des panneaux
solaires d'autres marques?

R : Le Boulder 100i n'est pas garanti pour fonctionner avec
les produits d'autres fabricants. De nombreux panneaux
solaires sont fabriqués différemment. Le jumelage de votre
Boulder 100i avec des panneaux d'autres fabricants peut
endommager le produit, provoquer des incendies ou d'autres
problémes graves.

*MC4" est une marque déposée de Staubli Electrical Connectors

13



Lernen Sie |hr Gerat kennen So funktioniert's

Stecken Sie die 4 mm-Solaranschlisse auf der Rlickseite
Anschlussdose des Boulder 100i in einen 4 mm-Solaranschluss, Kombinator
oder Adapter ein, um Ihr gewilnschtes Gerat einzustecken
und darUber Solarstrom zu generieren und zu nutzen.

Um den Boulder 100i in einen Yeti einzustecken, bendtigen
 balter [E] E] Sie einen 4 mm Solaranschluss fir den HPP-Adapter.

. -
=il

j| 4 mm-Solaranschlisse
o

4 mm-Solaranschluss
(kompatibel mit MC4®)

1 8 [
| com— |

*MC4? ist ein eingetragenes Warenzeichen von Staubli Electrical Connectors

In der Verpackung

* Boulder 100i Solarmodul
* (4) Z-Halter

*(4) M6 Sechskantschraube I]
* (4) M6 Sechskantmutter
* (4) M6 Federringe

* (4) M6 Unterlegscheibe

T3]

1 8 [
| com— |

14



Installation des Moduls

1. Befestigen Sie die Z-Halter am Solarmodul

a. Bringen Sie den Z-Halter an der langen Seite des
Solarmodulrahmens in der Nahe der Ecke an. Stellen
Sie sicher, dass der Montageful? des Halters weg vom
Solarmodulrahmen zeigt.

b. Richten Sie das Montageloch am Z-Halter passend
zum Loch am Solarmodulrahmen aus.

c. Bringen Sie den Z-Halter mithilfe der M6-
Sechskantschraube, Federringe, Unterlegscheibe
und Sechskantmuttern am Solarmodulrahmen an.

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

d. Wiederholen Sie dies mit den anderen 3 Haltern,
indem Sie einen in der Nahe jeder Ecke des
Solarmoduls anbringen.

16

2. Einbau des Moduls
a. Wahlen Sie einen Standort fur die Installation des
Solarmoduls aus. Wir empfehlen einen hellen Platz
mit maximaler Sonneneinstrahlung.
b. Montieren Sie die Module so weit vom Dach entfernt
wie moglich.

Verbinden mehrerer Module

Wenn mehrere Module verbunden werden, ist es wichtig,

die Eingangsspannungsbegrenzungen des Gerats zu kennen,
das Sie gerade aufladen. Die Eingangsmenge wird davon
beeinflusst, ob die Module in einer Reihe oder in paralleler
Konfiguration verbunden sind. Weitere Informationen

zur optimalen Solarmodul-Einrichtung finden Sie auf der
Goal Zero-Website:

%

17



Technische Daten

Solarmodul
Nennleistung

Zelleneffizienz

Betriebsspannung (spitzenleistung)

Betriebsstrom (spitzenleistung)
Leerlaufspannung VOC
Kurzschlusstrom ISC
Vorsicherungsleistung
Temperaturkoeffizient (leistung)
Temperaturkoeffizient (spannung)
Temperaturkoeffizient (strom)
Betriebstemperatur

Anschluss

Anschluss

Kabellange

Kabel AWG

Allgemein

Gewicht

Abmessungen

Zertifikate

Garantie

Schutzart

*Informationen zu Garantiefristen, -bedingungen und -registrierung finden Sie auf

www.goalzero.com/warranty.

* Basierend auf Standardtestbedingungen mit einer Sonneneinstrahlung von

100 W
22%
17,1V
584 A
20,52V
6,14 A
9A
-,39%/°C
-,3%/°C
,06% /°C
-40°-85°C

MC4e
36in
12 AWG

6 kg

23,07x38,58x1,18in
58,6 x 98 x 3cm

FE Ce & &
2 Jahre
IP67

1000 W/m2, Zelltemperatur von 25 °C und Luftmasse AM = 1,5.

*MC4? ist ein eingetragenes Warenzeichen von Staubli Electrical Connectors

18

Haufig gestellte Fragen

F: Kann ich den Boulder 100i direkt in einen Goal Zero
Yeti einstecken?

A: Nein, Sie bendtigen einen MC4® fir den HPP-Adapter,
um den Boulder 100i an ein Yeti. Diese Module sind fur
Wohnmobil-Installationen mit dem Goal Zero Escape
Ecosystem gedacht.

F: Wie viele Solarmodule kann ich gemeinsam anschlieRen?
A: Dies hangt von dem Geréat ab, mit dem Sie lhre Module
koppeln. Der Goal Zero Yeti PRO 4000 akzeptiert
beispielsweise maximal 5 Boulder 100i Module in Reihe,
wahrend beim Yeti 1500X und allen anderen Produkten der
X'-Serie nur 2 Module in Reihe maglich sind.

F: Kann ich meinen Boulder 100i mit Solarmodulen anderer
Hersteller verketten?

A: Nein. Es ist nicht gewahrleistet, dass der Boulder 100i

mit Produkten anderer Hersteller funktioniert. Zahlreiche
Solarmodule sind unterschiedlich hergestellt. Die Kopplung des
Boulder 100i mit fremden Modulen kann zu Produktschaden,
Brand oder anderen schwerwiegenden Problemen flhren.

*MC42 ist ein eingetragenes Warenzeichen von Staubli Electrical Connectors

19



Conozca su equipo

Caja de empalmes

Cdémo funciona

Enchufe los conectores solares de 4 mm de la parte
posterior de su Boulder 100i a un conector solar, combinador
o adaptador de 4 mm para enchufarlo al dispositivo que

gn
Abrazaderas en Z [ °]
.

Conector solar de 4 mm
(compatible con MC4®)

desee para recoger y utilizar la energia solar.

Para conectar el Boulder 100i a un Yeti, necesitara un
[;j adaptador de conector solar a HPP de 4 mm.

Conectores solares

L de 4 mm
g
Lo

*MC4® es una marca registrada de Staubli Electrical Connectors

1 8 [
| com— |

* Panel solar Boulder 100i

*(4) Abrazaderasen Z

*(4) Perno hexagonal M6

* (4) Tuerca hexagonal M6

* (4) Arandela de seguridad partida M6
* (4) Arandela plana M6

20

| —
T3]
1 8 [

| com— |

21



Cdmo instalar el panel

1. Fije las abrazaderas Z al panel solar

a. Fije la abrazadera en Z a lo largo del lado largo del marco
del panel solar, cerca de la esquina. Asegurese de que
la pata de montaje de la abrazadera esté orientada en
direccién contraria al marco del panel solar.

b. Alinee el orificio de montaje de la abrazadera en Z con
el orificio en el marco del panel solar.

c. Fije la abrazadera en Z al bastidor del panel solar con el
tornillo hexagonal M8, la arandela de seguridad partida,
la arandela planay las tuercas hexagonales.

Boulder 100i Top

Side View

Wel® ‘ ©

]
a
-

|

d. Repita la operacion con las otras 3 abrazaderas,
colocando una cerca de cada esquina del panel solar.

2. Montaje del panel
a. Elija un lugar para instalar su panel solar. Recomendamos
elegir un lugar despejado y que reciba la maxima
exposicion solar.
b. Monte los paneles lo mas lejos posible de los obstéculos
del tejado.

Conexion de varios paneles

Al conectar varios paneles, es importante tener en cuenta
las limitaciones de entrada de voltaje del dispositivo que se
estd cargando. La cantidad de entrada depende de si los
paneles se conectan en serie o en paralelo. Visite el sitio web
de Goal Zero (Objetivo Cero) para obtener mas informacion
sobre la configuracion éptima de los paneles solares:

%

23



Especificaciones técnicas

Panel Solar
Potencia nominal

Eficiencia de la celda

Voltaje de funcionamiento (potencia pico)

Corriente de funcionamiento
(potencia de pico)

Voltaje de circuito abierto VOC
Corriente de cortocircuito ISC
Capacidad del fusible

Coeficiente de temperatura (fuerza)
Coeficiente de temperatura (Voltaje)
Coeficiente de temperatura (Corriente)
Temperatura de funcionamiento
Conexién

Conector

Longitud del cable

Cable AWG

General

Peso

Dimensiones

Certificaciones

Garantia

Proteccidn contra la infiltracién

100W
22%

17.1V
5.84A

20.52V
6.14A

9A
~.39%/°C
-.3%/°C
.06% [°C
-40°-85°C

MC4e
36 pulg
12 AWG

13.2Ibs/6kg

23.07x38.58x1.18 pulg
58.6 x 98 x 3cm

FE CE & B

2 afios

IP67

*Para consultar los términos, las condiciones y el registro de la garantia,

visite www.goalzero.com/warranty

* Basado en condiciones de prueba esténdar con irradiacion solar de
1000W/m”2, temperatura de la célula de 25C y masa de aire AM = 1,5

*MC4® es una marca registrada de Staubli Electrical Connectors

24

Preguntas frecuentes

P: ¢ Puedo conectar el Boulder 100i directamente

aun Yeti Goal Zero?

A: No. Necesita un MC4® al adaptador HPP para conectar el
Boulder 100i a un Yeti. Estos paneles estan disefiados para
instalaciones en vehiculos recreativos con el sistema Goal Zero
Escape Ecosystem.

P: ; Cuantos paneles solares puedo conectar?

A: Varia en funcién del dispositivo con el que empareje sus
paneles. Por ejemplo, el Yeti PRO 4000 de Goal Zero aceptara
un maximo de 5 paneles Boulder 100i en serie, mientras

que el Yeti 1500X y todos los demés productos de la linea

"X" sélo pueden alojar 2 paneles en serie.

P: ¢ Puedo encadenar mi Boulder 100i con paneles solares
de terceros?

R: No. No se garantiza que el Boulder 100i funcione con
productos de otros fabricantes. Muchos paneles solares se
fabrican de forma diferente. El emparejamiento de su Boulder
100i con paneles de otros fabricantes puede provocar dafios
en el producto, incendios u otros problemas graves.

*MC4® es una marca registrada de Staubli Electrical Connectors

25



Caratteristiche Esterne dell'Apparecchio Come Funziona

Collegare i Connettori Solari da 4 mm sul retro del Boulder
Scatola di Giunzione 100i a un Connettore Solare da 4 mm, a un combinatore
0 a un adattatore da collegare al dispositivo desiderato
per raccogliere e utilizzare I'energia solare.

Per collegare il Boulder 100i a uno Yeti, € necessario un
Staffenz [;] [;i| adattatore da connettore solare da 4 mm a HPP.

- -
Connettori Solari

=N da 4 mm
g
Lo

Connettore Solare da 4 mm
(compatibile con MC4®)

| —
TOJ
1 8 [

| com— |

*MC4 @ & un marchio registrato di Connettori Elettrici Staubli

Nella Scatola

« Pannello Solare Boulder 100i

*(4) Staffea Z
«(4) Bullone Esagonale M6 I]
* (4) M6 Dado Esagonale

* (4) M6 Rondella di Bloccaggio Divisa
* (4) M6 Rondella Piatta

T3]

1 8 [
| com— |

26



Come Installare il Pannello

1. Fissare le staffe Z al Pannello Solare

a. Fissare la Staffa a Z lungo il lato lungo del telaio
del pannello solare, vicino all'angolo. Assicurarsi che
il piede di montaggio della staffa sia rivolto verso
il telaio del pannello solare.

b. Allineare il foro di montaggio sulla Staffa a Z con il foro
sul pannello solare.

c. Fissare la Staffa a Z al telaio del pannello solare coniil
bullone esagonale M6, la rondella di bloccaggio divisa,
la rondella piana e il dado esagonale.

Boulder 100i Top

Side View

Wel® ‘ ©

]
a
-

|

d. Ripetere l'operazione per le altre 3 staffe,
posizionandone una vicino a ciascun angolo
del pannello solare.

28

2. Montaggio del Pannello
a. Scegliere la posizione in cui installare il pannello solare.
Si consiglia di scegliere un punto chiaro e che riceva la
massima esposizione al sole.
b. Montare i pannelli il pit lontano possibile da ostacoli
sul tetto.

Collegamento di pit Pannelli

Quando si collegano pil pannelli, € importante tenere conto dei
limiti di tensione in ingresso del dispositivo che si sta caricando.
LLa quantita di ingresso dipende dal collegamento dei pannelli in
serie o in parallelo. Per ulteriori informazioni sulla configurazione
ottimale dei pannelli solari, visitate il sito web di Goal Zero:

%



Caratteristiche Tecniche

Pannello Solare

Potenza Nominale

Efficienza delle Celle

Tensione di Esercizio (potenza di picco)
Corrente di Esercizio (potenza di picco)
Tensione Circuito Aperto COV

Corrente di Corto Circuito ISC

Serie Valutazione del Fusibile
Coefficiente di Temperatura (energia)
Coefficiente di Temperatura (Tensione)
Coefficiente di Temperatura (Corrente)
Temperatura di Esercizio
Connessione

Connettore

Lunghezza del Cavo

Cavo AWG

Generale

Peso

Dimensioni

Certificati

Garanzia

Protezione contro I'Ingresso

100W
22%
17.1V
5.84A
20.52V
6.14A
9A
~.39%/°C
-.3%/°C
.06% [°C
-40°-85°C

MC4e
36 pollici
12 AWG

13,2 libbre/6 kg

23,07 x38,58x 1,18 pollici
58,6 x 98 x 3cm

FE Ce & &
2 anni

IP67

* Per i termini, le condizioni e la registrazione della garanzia, visitare il

sito www.goalzero.com/warranty.

* In base alle condizioni di prova standard con irraggiamento solare
di 1000W/m”2, temperatura della cella di 25C e massa d'ariaAM = 1,5

*MC4 @ & un marchio registrato di Connettori Elettrici Staubli

30

Domande Frequenti

D: Posso collegare il Boulder 100i direttamente a una
Goal Zero Yeti?

R: Per collegare il Boulder 100i a un Yeti & necessario un
adattatore da MC4 ®a HPP. Questi pannelli sono destinati
alle installazioni in camper con il sistema Goal Zero Escape
Ecosystem.

D: Quanti pannelli solari posso collegare tra loro?

R: Varia a seconda del dispositivo con cui si abbinano i pannelli.
Ad esempio, la Goal Zero Yeti PRO 4000 accetta un massimo
di 5 pannelli Boulder 100i in serie, mentre la Yeti 1500X

e tutti gli altri prodotti della linea "X" possono ospitare solo

due pannelli in serie.

D: Posso concatenare il mio Boulder 100i con pannelli solari
di terzi?

R: No. Il Boulder 100i non & garantito per il funzionamento con
prodotti di altri produttori. Molti pannelli solari sono prodotti in
modo diverso. L'accoppiamento del Boulder 100i con pannelli
di terze parti pud causare danni al prodotto, incendi o altri
problemi gravi.

*MC4 @ & un marchio registrato di Connettori Elettrici Staubli

31



Conheca o seu equipamento Como Funciona

Conecte os conectores solares de 4 mm na parte traseira
Caixa de Junggo do seu Boulder 100i em um conector solar de 4 mm,
combinador ou adaptador para conectar ao dispositivo
desejado para coletar e usar energia solar.

Para conectar o Boulder 100i a um Yeti, precisara de
Suportes 2 [E] Ei| um conector solar de 4mm para adaptador HPP.

r _
Conectores solares

=N de 4mm
g
Lo

Conector solar de 4mm
(compativel com MC4))

| —
TOJ
1 8 [

| com— |

*MC4° é uma marca registada de Staubli Electrical Connectors

Na caixa

* Painel Solar Boulder 100i

* (4) suportes-Z
*(4) Parafuso hexagonal M6 I]
* (4) Porca hexagonal M6
« (4) Porca M6

* (4) Porca lisa M6

T3]

1 8 [
| com— |

32



Como Instalar o seu Painel

1. Fixe os suportes Z ao painel solar

a. Fixe o suporte Z ao longo do lado longo da estrutura
do painel solar perto do canto. Certifique-se de que
o pé de montagem do suporte esta virado para longe
da estrutura do painel solar.

b. Alinhe o orificio de montagem no suporte Z com
o orificio na estrutura do painel solar.

c. Ligue o suporte Z a estrutura do painel solar com
a seringa Parafuso hexagonal M6, lavadora de
blogueio dividido, porca lisa, e porcas hexagonais.

Boulder 100i Top

Side View

ele® ‘

]
a
-

|

d. Repita para os outros 3 suportes, colocando um perto
de cada canto do painel solar.

2. Monte o Painel
a. Escolha um local para instalar o seu painel solar.
Recomendamos que escolha um local que esteja
limpo e que receba a maxima exposigdo solar.
b. Monte os painéis o mais longe possivel das
obstrugdes do telhado.

Para ligar Multiplos Painéis

Ao conectar varios paingéis, é importante estar atento as
limitagdes de entrada de tensdo do dispositivo que esta
carregando. A quantidade de entrada é afetada pelo facto de
estar a conectar painéis numa configuragéo de série ou paralela.
Visite o site da Goal Zero para obter mais informagGes sobre

a configuracao ideal de painéis solares:

%



Especificagtes Técnicas

Questdes mais frequentes

Painel Solar P. Posso ligar o Boulder 100i diretamente a um
Poténcia nominal 100W Goal Zero Yeti?
o - o

Eficianeia Celular 550, R: N&o. Precisa _de um adap'tador MCé_l ‘parao 'HPP conectar
Vol 4o Utilizacdio eneraia méxima) 11y ao Boulder 100i e a um Yeti. Estes painéis destinam-se

SIERII IS BUNEEEED (STE R R ' ainstalacdes de autocaravana com o Goal Zero Escape
Corrente de funcionamento (energia méxima) 5.84A Ecosystem.
Voltagem de circuito aberto VOC 20.52V
Corrente de Circuito Curto ISC 6.14A P. Qua_ntos paineis sol_ares _p_osso Ilgar? ,
Classificanto do fusiveie da <ér oA R: Varia consoante o dispositivo com o qual estéd a emparelhar

EERICEIED AL WG GRS os painéis. Por exemplo, o Goal Zero Yeti PRO 4000 aceitara
Coeficiente de Temperatura (poder) ~39%/°C um maximo de 5 painéis Boulder 100i em série, enquanto
Coeficiente de Temperatura (Tenszo) -3%]/°C o Yeti 1500X e todos os outros produtos da linha 'X' s6
Coeficiente de Temperatura (Corrente) .06%/°C podem acomodar 2 painéis em serie.
T tura de funci t -40°-85°C . . . .

SRR L P. Posso ligar o meu Boulder 100i a painéis solares
Ligagdo de terceiros?
Cabo MC4® R: N&o. Nao é garantido que o Boulder 100i funcione com
Comprimento do cabo 36in p[oduto:_s de outros fabricantes. Muitos painéis solares

s3o fabricados de forma diferente. Emparelhar o seu Boulder
Cabo AWG 12 AWG } > )
100i com painéis de terceiros pode resultar em danos ao

Geral produto, incéndios ou outros problemas graves.
Peso 13.2lbs/6kg
Dimensoes 23.07 x38.58x1.18in

58.6 x 98 x 3cm

Certificados FE CE & X
Garantia 2 anos
Protegao contra Ingresso IP67

* Para ver os termos, condigdes e registo de garantia, consulte www.goalzero.com/warranty

* Com base em condigdes de teste padrdo com incidéncia solar a 1000W/m”2, temperatura
celular de 25C e massadear AM =1,5

*MC4® é uma marca registada de Staubli Electrical Connectors *MC4®° é uma marca registada de Staubli Electrical Connectors

36



K IRIRT 3

Sy UiaviRyIx

L

=
2734wk [‘]
L

4mm V=3 —2R0%—
(MC4°"%15)

*MC4°(3. Staubli Electrical Connectors D B EREETY

FaOH

* Boulder 100i V—5— /\=%JL
«(4) 275wk

«(4) M6 7RAERILE

s (4)M6 RAaTvE

c(4)M6 X7y rOY I Iy —
. (4) M6 FRES

ERAE
Boulder 100i0E@EICH B 4mm YV —F— AR IA—%4mm VYV —
S— ARIE—=ANAF— FFZTHETEZ—IEHE L. FLZD
TNA TR L TREAREZNEL TERLET,

Boulder 100i% YetilZ#E#i g Il 4mm YV —F— ORI R — -
HPP 7272 HETT,

-
=il

4mm YV —Z—aRI82—

| —
TOJ
1 8 [

| com— |

| —
T3]
1 8 [

| com— |

39



1.2757ybEY—5—NFIUCBELEY

a.d—F—hHaDY—5— NI FL—LDORBISHE-TZIS
TYRERDITES, Ty fOERDF I DY —F—/V%
ILIL—LDORIFAIZEREVTVWS I EEREL TS L,

b.Z7Zy bOEDFIFINEY—F— NI TL—LDRICE
HtEEY,

cME ARARILNEOVITY I y— FIyvIv— RNATVE
EERLT.ZIST v EY —=S5— NI T L—LICEDT
E

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

dEDODD3IDDTSTyMIDWTHRILFIEEEDIE L.
V—Z— NFZIILDERBDELICIDIDERELET,

40

2. 8% ERDFITS
aV—F—NXIERBETIHMZERL LTV IBATWVT
HHADRARICHZIGATER_EZEHOHLET,
b.XXILIZEB EOEEYNSTERITEENTIGRRICED 3T T
e,

BHRONRILVEERTS

BERONRINEZEGITZHEIERETZT /NI RDEEATFIRIC
ABTRCCHEETIANEIR NRILEZETEBHR TESLTWVS
HAHER TES LTV S THEEZRITE T RERY—5—
NZILDEY Ty TDEMICDWTIE. Goal Zero Webtr 1 2 28
<TETLN,

%

41



Btttk

V=3—=N=L
ERHN

RIZES

BHIFBE (E—UE8N)
BEER (E—08H)
FAERREE VOC
FEREMRISC

) —Xea—RER
BERE ()
REIRE (BE)
BERHR(ER)
ERRE

=5

dAro8—
T=IILORE
7—7ILAWG

nE

B8

&

RERME
fREE
EARE

100W
22%
17.1V
5.84A
20.52V
6.14A
9A
~.39%/°C
-.3%/°C
.06%/°C
-40°-85°C

MC4e
3812F
12 AWG

13.2lbs/Bkg

23.07x38.58x1.181>F
58.6 x 98 x 3cm

FE CE & &
2F
P67

MREESA B LB RIC DV TIE www.goalzero.com/warranty IC7 72X LT E L,

“KIFHERE 1000W/m" 2, )LBE 25°C. 2R EE AM = 1.5 OIFET IR RAFICEDL

TWEY

*MC4°(3. Staubli Electrical Connectors DB HREIETY

42

Q:Boulder 100i%#Goal Zero YetilCE#FEEHTEIETH?
AW X Boulder 100i%Yeti V—5— NRILICERT S
IZIEMC4 ® - HPP 74 72 —HW BT, CN5D/NRIL
I%.Goal Zero Escape LAY R T L% HA-RVEREMIT TS,

Q:V=F—NRILIFARETEETIETH?

ANRILERT )T LTVWBTNTRICESTRERDES 28R
|&.Goal Zero Yeti PRO 4000id& A5 M DBoulder 100i/N=)L %
BHICINATETEITH Yeti 1500X LD IARTD X151
mlE2RDNFIL LD EFIINABTEE Ao

Q:Boulder 100ilc— R N—FT1 DYV —5— NRILZEHZTEE
IH?

AW X, Boulder 100il& D X—h— DB G EOHB KRS
NTWVWEBA. BLDYV—F—NRILIFELRDZAETREINTULE
FoBoulder 100izH—RN—T1BINRILCHEHAEHEZ L BRD
BEAKK TOMOERGEEIEETIAEENHDET,

*MC4°(3. Staubli Electrical Connectors O B REETY



Tutustu laitteeseesi Nain se toimii

Kytke Boulder 100i:n takana olevat 4 mm:n aurinkoliittimet
Kytkinrasia 4 mm:n aurinkoliittimeen, yhdistimeen tai sovittimeen,
jonka voit liittda haluamaasi laitteeseen aurinkoenergian
keraamista ja kayttoa varten.

Jos haluat liittda Boulder 100i:n Yeti-laitteeseen,
ettt [;] ['i| tarvitset 4 mm:n Solar Connector to HPP -sovittimen.

[}

. -
=il

4mm aurinkoliittimet

4mm aurinkoliitin
(mukautuu MC4° kanssa)

| —
TOJ
1 8 [

| com— |

*MC4° on Staubli Electrical Connectorsin rekisterdity tavaramerkki.

* Boulder 100i aurinkopaneeli

* (4) Z-kannatin
*(4) M6 kuusiopultti I]
* (4) M6 kuusiomutteri

* (4) M6 Jaettu lukitusaluslevy
* (4) MG Litted aluslaatta

T3]

1 8 [
| com— |




Paneelin asentaminen

1. Kiinnita Z-kannattimet aurinkopaneeliin

a. Kiinnita Z-kannatin aurinkopaneelin kehyksen pitkaa
sivua pitkin I&helle kulmaa. Varmista, etta kiinnikkeen

kiinnitysjalka on poispain aurinkopaneelin kehyksesta.

b. Kohdista Z-kannattimen kiinnitysreika reian kanssa.
aurinkopaneelin kehyksessa.

c. Kiinnita Z-kiinnike aurinkopaneelin kehikkoon
kayttamalla M6 kuusiopultti, halkaistu aluslevy,
litted aluslevy ja kuusiomutterit.

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

d. Toista tama kolmella muulla kiinnikkeell ja aseta
yksi lahelle jokaista aurinkopaneelin kulmaa.

46

2. Kiinnita paneeli

a. Valitse aurinkopaneelin asennuspaikka. Suosittelemme

valitsemaan paikan, joka on kirkas ja saa mahdollisimman

paljon aurinkoa.

b. Asenna paneelit mahdollisimman kauas katolla
olevista esteista.

Useiden paneelien yhdistdminen

Kun kytket useita paneeleita, on tarkeaa ottaa huomioon
ladattavan laitteen jannitteen sydttorajoitukset. Sydton

maaraan vaikuttaa se, kytketko paneelit sarjaan vai rinnakkain.

K&y Goal Zeron verkkosivustolla saadaksesi lisatietoja
optimaalisesta aurinkopaneeliasennuksesta:

%

47



Tekniset tiedot

Aurinkopaneeli

Nimellisteho 100 W
Solun tehokkuus 22%
Kayttsjannite (huipputeho) 17.1V
Toimintavirta (huipputeho) 5.84A
Avoimen piirin jannite VOC 20.52V
Oikosulkuvirta ISC 6.14A
Sarjan sulake Luokitus 9A
Lampatilakerroin (tehoa) -.39%/°C
Lampatilakerroin (jannite) -.3%/°C
Lampatilakerroin (nykyinen) .06%/°C
Kayttolampotila -40°-85°C
Yhteys
Liitin MC4e
Kaapelin pituus 36 tuumaa
Kaapelin AWG 12 AWG
Yleistietoja
Paino 13.2pnt/6kg
Mitat 23,07 x38,58 x 1,18 tuumaa
58,6 x 98 x 3cm
Sertifioinnit FE CE & 1
Takuu 2 vuotta
Tunkeutumissuojaus IP67

*Takuuehdot, takuuehdot ja rekisterdinti [dytyvat osoitteesta www.goalzero.com/warranty

* Perustuu vakiotestiolosuhteisiin, joissa auringon sateilysateily on 2000 W/m*2, kennon
lampatila on 25 C ja ilman massa AM = 1,5.

*MC4® on Staubli Electrical Connectorsin rekisterdity tavaramerkki.

48

Usein kysyttyja kysymyksia

K: Voinko liittda Boulder 100i:n suoraan Goal Zero

Yeti -laitteeseen?

V: Ei. Tarvitset MC4 ® HPP-sovittimen, jotta voit liittda Boulder
100i:n Yeti Nama paneelit on tarkoitettu asuntoautojen
asennuksiin Goal Zero Escape Ecosystemin kanssa.

K: Kuinka monta aurinkopaneelia voin liittda yhteen?

V: Se vaihtelee sen mukaan, minka laitteen kanssa yhdistat
paneelit. Esimerkiksi Goal Zero Yeti PRO 4000 -malliin
mahtuu enintdan 5 Boulder 100i -paneelia sarjaan, kun taas
Yeti 1500X:44n ja kaikkiin muihin X-sarjan tuotteisiin mahtuu
vain 2 paneelia sarjaan.

K: Voinko ketjuttaa Boulder 100i:n kolmannen osapuolen
aurinkopaneeleilla?

V: Ei. Boulder 100i:n ei taata toimivan muiden valmistajien
tuotteiden kanssa. Monet aurinkopaneelit valmistetaan

eri tavalla. Boulder 100i -laitteen yhdistaminen kolmannen
osapuolen paneeleihin voi aiheuttaa tuotevaurioita, tulipaloja
tai muita vakavia ongelmia.

*MC4® on Staubli Electrical Connectorsin rekisterdity tavaramerkki.

49



Leer uw apparatuur kennen Hoe het werkt

Sluit de 4mm connectoren voor zonne-energie aan op de
Kabeldoos achterkant van je Boulder 100i aan op een 4mm connector
voor zonne-energie, combiner of adapter om aan te sluiten
op het gewenste apparaat om zonne-energie op te vangen

5 E en te gebruiken.

Z-beugels [;] [;i| Om de Boulder 100i op een Yeti aan te sluiten, heb je een
1] Is 4mm connector voor zonne-energie naar HPP adapter nodig.

r _
4mm connectoren

=N Voor zonne-energie
g
Lo

4mm connector voor
zonne-energie
(compatibel met MC4%) I]

T8 7T

1 8 [
| com— |

*MC42 is een geregistreerd handelsmerk van Staubli Electrical Connectors

In de verpakking

« Boulder 100i zonnepaneel

* (4) Z-beugel
*(4) M6 Zeskantbout I]
* (4) M6 Zeskantmoer

* (4) M6 Geslepten borgring
* (4) MBPlatte sluitring

T3]

1 8 [
| com— |

50



Uw paneel installeren

1. Bevestig de Z beugels aan het zonnepaneel

a. Bevestig de Z-beugel langs de lange kant van het frame
van het zonnepaneel in de buurt van de hoek. Zorg ervoor
dat de montagevoet van de beugel van het frame van het
zonnepaneel af wijst.

b. Breng het montagegat op de Z-beugel op één lijn met
het gat op het frame van het zonnepaneel.

c. Bevestig de Z-beugel aan het frame van het zonnepaneel
met de M6 zeskantbout, split lockring, platte ring
en zeskantmoeren.

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

d. Herhaal dit voor de andere 3 beugels, plaats er eenin de
buurt van elke hoek van het zonnepaneel.

52

2. Het paneel monteren
a. Kies waar u uw zonnepaneel wilt installeren. We raden
aan een plek te kiezen die helder is en maximaal aan de
zon wordt blootgesteld.

b. Monteer de panelen zo ver mogelijk van obstakels op
het dak.

Meerdere panelen met elkaar verbinden

Wanneer u meerdere panelen met elkaar verbindt, is het
belangrijk om rekening te houden met de spanningslimieten van
het apparaat dat u oplaadt. De hoeveelheid input hangt af van
of u panelen in serie of parallel aansluit. Surf naar de website
van Goal Zero voor meer informatie over de optimale opstelling
van zonnepanelen:

%



Technische kenmerken

Veelgestelde vragen

Zonnepaneel V: Kan ik de Boulder 100i rechtstreeks op een Goal Zero
Nominaal vermogen 100W Yeti aansluiten?
. [} .

Celefficiantie 259, A:Nee. U hebt een MC4® naar HPP adapter nodig om de
et 6 (biok ) 11y Boulder 100i aan te sluiten op een Yeti. Deze panelen zijn

G EEEEIE (PSS EeEn : bedoeld voor camperinstallaties met het Goal Zero Escape
Bedrijfsstroom (piekvermogen) 5.84A Ecosystem.
Open-circuit spanning VOC 20.52V
Kortsluitstroom ISC 6.14A V: Hoeveel zonnepanelen kan ik op elkaar aansluiten?
Serio Zekoring Waard oA A: Dit hangt af van het apparaat waar u uw panelen aan koppelt.

SO CEETIE WEEICE De Yeti PRO 4000 van Goal Zero accepteert bijvoorbeeld
Temperatuurcoéfficiént (Stroom) ~39%]/°C maximaal 5 Boulder 100i panelen in serie, terwijl de Yeti
Temperatuurcoéfficiént (Voltage) -3%]/°C 1500X en alle andere producten uit de 'X'-lijn slechts plaats
Temperatuurcoéfficiént (Stroom) .06%/°C bieden aan 2 panelen in serie.
Bedrijfst t -40°-85°C - .

SIS V: Kan ik mijn Boulder 100i koppelen aan zonnepanelen
Aansluiting van derden?
Verbindingsstuk MC4® A: Nee. De Boulder 100i werkt gegarandeerd niet met
Kabellengte 36in producten van andere fabrikanten. Veel zonnepanelen worden

op verschillende manieren gemaakt. Uw Boulder 100i aan
Kabel ANG 12 AWG .
panelen van derden koppelen kan leiden tot productschade,
Algemeen brand of andere ernstige problemen.
Gewicht 13.2lbs/6kg
Afmetingen 23.07x38.58x1.18in
58.6 x 98 x 3cm

Certificaten FE Ce & &
Garantie 2 jaar
Bescherming tegen indringing IP67

*Ga voor garantievoorwaarden, overige voorwaarden en registratie naar
www.goalzero.com/warranty.

* Gebaseerd op standaard testomstandigheden met een zonne-instraling
van 1000W/m"2, celtemperatuur van 25C en luchtmassa AM = 1,5

*MC4® is een geregistreerd handelsmerk van Staubli Electrical Connectors *MC42 is een geregistreerd handelsmerk van Staubli Electrical Connectors

54 55



Lar kdnna din utrustning

Kopplingsdosa

e[ )

4 mm solkontakt
(kompatibel med MC4®)

*MC4° 3r ett registrerat varumarke som tillhér Staubli Electrical Connectors

| forpackningen

* Boulder 100i solpanel
« (4) Z-fasten

*(4) M6 sexkantsbult

* (4) M6 sexkantsmutter
* (4) M6 delad l&sbricka
* (4) M6 platt bricka

56

Hur den fungerar

Anslut 4 mm solkontakter pa baksidan av din Boulder
100i till en 4 mm solkontakt, kombinationskontakt eller
adapter for att ansluta till dnskad enhet for att samlain

och anvénda solenergi.

For att ansluta Boulder 100i till en Yeti behdver du en
4 mm solkontakt till HPP-adapter.

-
=il

4 mm solkontakter

| —|
T3]

1 8 [

1 8 [




Hur man installerar panelen

1. Fast Z-fastena pa solpanelen

a. Fast Z-fastet langs solpanelramens l&ngsida nara
hornet. Se till att fastets monteringsfot &r vand bort
fran solpanelramen.

b. Rikta in monteringshalet p& Z-fastet mot hélet
pé solpanelsramen.

c. Fast Z-fastet pa solpanelramen med M6 sexkantsbult,
delad bricka, platt bricka och sexkantsmutter.

Boulder 100i Top

Side View

MO O ‘ ©

]
a
-

|

d. Upprepa for de andra tre fastena och placera ett nara
varje horn av solpanelen.

58

2. Montera panelen
a. Valj en plats for att installera din solpanel.
Virekommenderar att du véljer en plats utan
skugga med maximal solexponering.
b. Montera panelerna s& langt bort fran takhinder
som mojligt.

Anslutning av flera paneler

Nar du ansluter flera paneler ar det viktigt att vara uppmarksam
pé& begransningarna for spanningsinmatning for enheten du
laddar. Mangden ineffekt paverkas av om du ansluter paneler

i en seriell eller parallell konfiguration. Besoék Goal Zeros
webbplats for mer information om optimal installation

av solpaneler:

%

59



Tekniska specifikationer

Solpanel

Nominell effekt

Cellens effektivitet
Driftspanning (toppeffekt)
Driftsstrom (toppeffekt)
Oppen kretsspanning VOC
Kortslutningsstrom ISC

Serie sakringsvarde
Temperaturkoefficient (kraft)
Temperaturkoefficient (spanning)
Temperaturkoefficient (strém)
Drifttemperatur

Anslutning

Kontakt

Kabellangd

Kabel AWG

Allmant

Vikt

Matt

Certifikat

Garanti

Skydd mot intréng

100W
22%
17,1V
5,84A
20,52V
6,14A
9A
-,39%/°C
-,3%/°C
,06%/°C
-40°-85°C

MC4e
36 tum
12 AWG

6ka/13,2lbs

23,07 x38,58x1,18 tum
58,6 x 98 x 3cm

FE Ce & &
2ar

IP67

*For garantivillkor, villkor och registrering gé till www.goalzero.com/warranty

* Baserat pa standardtestférhallanden med soltrélning vid 1000W/m”2, celltemperatur

p& 25C och luftmassa AM = 1,5

*MC4® &r ett registrerat varumarke som tillhér Staubli Electrical Connectors

60

Vanliga fragor

F: Kan jag ansluta Boulder 100i direkt till en Goal Zero Yeti?
S: Nej, du behdver en MC4° till HPP-adapter for att

ansluta Boulder 100i till en Yeti. Dessa paneler &r avsedda

for husbilsinstallationer med Goal Zero Escape Ecosystem.

F: Hur manga solpaneler kan jag koppla samman?

S: Det beror pa vilken enhet du kopplar ihop dina paneler med.
Till exempel accepterar Goal Zero Yeti PRO 4000 maximalt

5 Boulder 100i-paneler i serie, medan Yeti 1500X och alla
andra "X"-serieprodukter endast hanterar 2 paneler i serie.

F: Kan jag sammankoppla min Boulder 100i med solpaneler
fran tredje part?

S: Nej, det ar inte sakert att Boulder 100i fungerar med

andra tillverkares produkter. M&nga solpaneler ar tillverkade
pé annat satt. Om du kopplar ihop din Boulder 100i

med tredjepartspaneler kan det leda till produktskador,
brander eller andra allvarliga problem.

*MC42 3r ett registrerat varumérke som tillhér Staubli Electrical Connectors

61



GOAL ZERO HEADQUARTERS

Draper, UT 84020
1-888-794-6250
Designed in the U.S.A.
Made in Vietnam

Goal Zero Yeti is a trademark of Goal Zero.

GOALZERO.COM

32420_2023_Boulder100i_ UserGuide REV_A



